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Solve each problem.

Ex) 8,481 + 152 = 8,633

1) 7,787 - 595 = 7,192

2) 595 + 220 = 815

3) 182 - 83 = 99

4) 9,795 + 8,511 = 18,306

5) 58 - 18 = 40

6) 7,615 + 383 = 7,998

7) 36 - 3 = 33

8) 51 + 6 = 57

9) 17,649 - 8,660 = 8,989

10) 813 + 589 = 1,402

11) 1,214 - 301 = 913

12) 7,379 + 5,531 = 12,910

Answers

Ex. 8,633

1. 7,192

2. 815

3. 99

4. 18,306

5. 40

6. 7,998

7. 33

8. 57

9. 8,989

10. 1,402

11. 913

12. 12,910
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Solve each problem.

7,192 33 18,306 40 815

99 8,989 57 1,402 7,998
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